T o e

2414 + 8154 =

Write 1453 in Roman
Numerals =

72x7 =
6—14 =
5880 + 24 =

Round 1643 to the nearest
ten =

41-1.04 =

52 =

4x12 =
__+253=1753

7543 + 8535 =

Write 1754 in Roman
Numerals =

84 x7 =
-5-21-=
12075 + 35 =

Round 16543 to the nearest
10 =

5.4-3.004 =
7%=

bx12-=
__+344=3751

12452 + 17535 =

Write 2541 in Roman
Numerals =

124 x 7 =
14— 48 =
16376 + 46 =

Round 186527 to the nearest
10 =

7.07-3.103 =
92.52=

8x12 =
___+1653=17543



2414 + 8154 = 10568

Write 1453 in Roman
Numerals = MCDLIII

72 x 7 = 504
6—14=-8
5880 + 24 = 245

Round 1643 to the nearest
ten = 1640

4.1-1.04=3.06
52=25
4x12=48

1500 + 253 =1753

7543 + 8535 = 16078

Write 1754 in Roman
Numerals = MDCCLIV

84 x 7 =588
-5-21=-26
12075 + 35 =345

Round 16543 to the nearest
10 = 16540

5.4 —3.004 = 2.396
72 = 49

6x12 =72

3407 + 344 = 3751

12452 + 17535 = 29987

Write 2541 in Roman
Numerals = MMDXLI

124 x 7 = 868
14— 48 = -34
16376 + 46 = 356

Round 186527 to the nearest
10 = 186530

7.07-3.103 =3.967
9%-5%=56

8x12 =96

15890 + 1653 = 17543



